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Instruction : (A) Quest'ion No. 1 is an objective type question. It has three
Parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each Part has § questions

and each question carries 1 mark.
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( WUs-31 ) wel fawen v fafa

(Part-A) Choose and writc the correct option :

()

(i)

frofafaa § /@ F15-w wra-ffifa dwmm €2
(37) g

(F) a3

(%) =i

(2 yf

Which of the following is man-made resource?
(a) Petroleum

(b) Forest

(¢) Machine

(d) Land

e YT FIfaa wan R
(3n gfeaam |

(7) =R & 9"

(/) 954

() WA

Your wealth is secured :
(@) in Police Station
(b) near trader

(¢) inbank

(d) in house

[1x5=5]
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(iii) TRE.am. (FCL) e a sai s iz & -

(37) wITIT T W

() 9% [ T

(/) fmUeia 7=
(%) A8 T ged W

F.C.1. purchases crops from farmers at :
(a) local price

(b) wholesale price

(c) international price

(d) minimum support price

(iv) TeeeR gra wurfya ol o .
(37) wrEtaR
(%) T=ER
(7) TxaR
(7) Ivdw A+ 78
Hitler established the Party :
(@) Fascism
() Nazism
(c) Nationalism

(d) None of the above
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(v) wireds 3 e AR e .

( 37) it ) ITEFA W

(%) Amfrl F -FA Frdart w
(7)) Fmfe! #i faaFql gewfmm w
() I9gs U | ®I3 TET

Success of democracy depends :

(a) on the dullness of citizens

() on the illegal actions of citizens

(¢) on the judicious participation of citizens

(d) None of the above

S-1A

(@vg-n) Ifaa gy A [1x5:5]'
(%) (=)
() @R famtm - (37) 3ma-=qy =l faaTm
(i) SR HSrgon - (&) feofam, Trmaet
(11i) TETO] T - (§) fasm
() TR F favea - (g) s yfg
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(Pari-B) iviucvii wie following :

(A)

(i) Factory building -

(if) Czar’s announcement -

(B)

(a) Details of income-expenditure

(b) Hiroshima, Nagasaki

(iif) Atom bomb - (¢) Television

(iv) Feature of budget -

(d) Barren land

(v) Affects lifestyle - (e) Farmer’s slavery ends
( @ug-u) faa @ &t gfd Fifag: [1%5=5]
(Part-C) Fill in the blanks :
() wfew § st @ q@ e — §
is the major source of energy in the future.
(i) TR ¥ T F Ga9 g1 A — 2
The main source of Government Revenue s
(i) i A — do F T A
Bank is called the bankers’ bank.
P1.0O.
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Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

am-5

-6

[ 6]
(iv) IR Foqaam @ T — ®

Capital of North Vietnam is

(v) it fifam S| & I 8 —— & @I g3

Colour Printing Press was invented after

. (9) ¥ PO 2 ¥ 6 aF I wg-Iedg e § 1 gE 9 W
2 3iF aTEfea ¥1 (IW A SAfuawan v=-gm 30 9% )

Each question carries 2 marks. (Maximum word-limit of |

answer is 30 words)

TFe Hie] S o 31Y FaRT | (2]

Explain Gross Domestic Product.

ﬂiwwaﬁ‘wﬁ%iﬁl'aﬁémﬁumfafml [2]

Write two results of the Russian Revolution of 1917.

uwaﬂtaﬁmﬁmmmﬁi@ﬁﬁ? 21
What is the difference between Nationalism and Extreme
Nationalism?

a3 Ieg = H F AW E? [1+1=2

What is the difference between Income Tax and Product Tax?

wags R v §? [2

What does the Cold War mean?
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3 3 ITEfEd €1 (IWM FY ayferran we-dm 50 Wz 3)

Instruction : (C) Question Nos. 7to 10 are very short answer type questions,

¥ 1-10

Each question carries 3 marks. (Maximum word-limit of

answer is 50 words)

B AW 9@ FI T @MW @[ fafae [1+1+1=3]

Write three special features of the first general election.

1 3GV Y@ 30 F fawm § a2 3 faem e (3}
Is invisible hunger obstacle in the path of development of the

country? Give your opinion.

g F Afuwr @ faer A i w fafag) [141+]

Write three benefits of Right to Information.

vt 3 st ¥ e & e yr aifaa fea €2

How has globalization affected the lives of workers?

S-3A
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: (3) v FA® 11 ¥ 14 7% wg-I9ig yw ¥ vdE g o
S fasmed 1 TS We3 W 4 oig ayefed § 1 (3W B
Hfiyran wIZ-FH1 75 I )

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

wA-1

w¥i-12

ut-13

Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 75 words)

Teat § qRiferdt % I & AR FR fafan [1+1+1+1=4]
Write four reasons for the rise of Mussolini in Italy.
HHar
OR
feeer =t fa2w Hifa =) wwemzw)
Explain Hitler’s Foreign Policy.
SEE foepie Tus ¥ foe g &, 9 2 g [4]

Population explosion is fatal for society, how? Explain.

3Heqr
OR
I W HE-F § e wa 2 & 2 guEne
What are the figures obtained from census? Explain.
v fava 43 & fagd s o 1 Seor@ Hifae | [1+1+1+1=4]

Mention any four reasons for the First World War.

S-3A
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TFaia 1 94 F T T B-5H & of ?

What were the main terms of the Treaty of Versailles?

qfy gdvm ¥ fau FR-w ¥ w0% s w1 W #2 T

Hifarg |

[4]

What are the different methods adopted for land management?

Explain. https:/www.cgboardonline.com

freifera wfers & $o am feg me ¥ | 375 gra firgdt =1 3w fom yoR

feran = & 7 3@ afaen o wftg .

[1+]1+1+]1=4)

.

=fad

gt @ 3wam

1 | %R

2 |fFam

3 |Hidwnr

4 |Tig +t gfgen

Some names are given in the table. How do they use soil? Fill in
the table :

Sl.No.

Persons

Use of Soil

Potter

Farmer

Sculptor

= WM

Woman of village

P.T.0.
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faseg 2| TS W W 5 ofF aTeifea €1 (I F Afuswan
&g -WHET 700 U € )

Instruction : (E) Question Nos. ‘and 16 are long answer type questions.

UFH-15

q¥1-16

Each question has internal option. Each question carries

5 marks. (Maximum word-limit of answer is /00 words)

o Afyar R TE SfuaE F o Sifae (FE ate) | [+ 1+41+1=5)

Compare Rural Settlement and Urban Settlement (any five).
3rar/OR

TR ¥ FH-BH @ 991 39 8 ® ¥ ($1E uie) ?

What are the problems arising from Urbanization (any five)?

WRAE HfY # FH IAEES F FROT 1 dAu §F fofEg
(&7 uT=) | [1+1+14+1+1=5]
Write briefly the reasons for the low productivity of Indian

Agriculture (any five).

eEr

OR

Ffa 1 W@ & fau wea Afus gea ¥ Tl ofa fagall § @
Hifg |

Agnculture is very important for India. Explain in any five points.

S-3A



[11]
fder : (%) T FHIF 17 T 18 H-3709 wv7 & 1 9% 999 § oo

faheq § | ¥6I% W9 W 6 i areifed ¥ 1 (IW N sty

Wee-GH 150 vIg ®)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

Each question has internal option. Each question carries

6 marks. (Maximum word-limit of answer is /50 words)

U¥T-17  9RATE €9t & Tl ud uiaadl w5 vl #ifa (38 80 | [(1+1+1+1+1+1=6)
Describe the works and powers of Indian Parliament (any six).

Fr/OR

Halt= AT S v Td e 1 auis Fife (R S ) |

Describe the powers and duties of the Supreme Court (any six).

WA-18  HaCH wiohan & B: fawg feraet wfira samem #ifam [1+1+1+1+]1+1=6]

-

Briefly explain the six points of Voting Process.
Har/OR

FO HATMI o7 SRl | HagH F0 T 99 & 2 gueRe (FE 8 )

Why some voters do not go for voting? Explain (any six).

135000



